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Q.1) Normalization of poverty as a feature of large population overshadows the lack of intent and 
capacity of political and administrative institutions. Do you agree? Justify using suitable                   
examples.                   (10 marks, 150 words) 
 

o`gn~ vkcknh dh fo'ks"krk ds :i esa xjhch dk lkekU;hdj.k jktuhfrd vkSj ç'kklfud laLFkkuksa dh ea'kk vkSj {kerk 

esa deh dks <d ysrk gSA D;k vki lger gSa\ mi;qä mnkgj.kksa dk ç;ksx djrs gq, vkSfpR; fl) dhft,A  

   ¼vad 10] 'kCn 150½ 


